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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

02.67 6 
	June, 2016 

LIFE SCIENCE 
LSE-06 : DEVELOPMENTAL BIOLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Answer Part I and Part II in separate answer 

copies. Answer the questions as per instructions 

given in each part Draw well-labelled diagrams, 

wherever necessary. 

PART I 

(Plant Development) 

Note : Question no. 1 is compulsory. Attempt any four 

questions from questions no. 2 to 7. 

1. (a) Fill in the blanks : 	 3 

(i) 

	

	 is the anther wall layer 

that helps in the dehiscence of anther. 
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(ii) Degenerated 	 cell of 

embryo sac is the seat for pollen tube 

discharge. 

(iii) 	  fibres develop from the 

phloem tissues in the stems of plants. 

(iv) Orbicules are generally absent in 

	type of tapetum. 

(v) 	 is a hormone associated 

with fruit ripening. 

(vi) The technique of 	 culture 

helps to raise virus-free plants. 

(b) Write the appropriate technical term for the 
following : 	 2 

(i) An outgrowth of placenta or funiculus 
that directs the pollen tube to micropyle 

(ii) A group of pollen grains that occur in a 
mass 

(iii) The stigmas that secrete exudates 

(iv) In vitro production of plants from 
pollen grains 
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2. Write short notes on any two of the following : 	5 

(a) Tapetum 

(b) Seed dormancy 

(c) Polyembryony 

(d) Suspension culture 

3. Write down three important differences between 
any two of the following : 	 5 

(a) Egg cell and Synergid cell 

(b) Entomophily and Anemophily 

(c) Intine and Exine 

(d) Vascular cambium and Cork cambium 

4. What is sexual incompatibility ? What is its 
biological significance ? Describe any two 
methods to overcome sexual incompatibility. 5 

5. Auxins, in association with cytokinins and 
ethylene play a role in controlling apical 
dominance. Explain. 5 

6. What is clonal- or micro-propagation ? Describe 
its applications in agriculture and horticulture. 	5 
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7. Answer any two of the following : 	 5 

(a) What is endosperm ? What are its 

functions ? 

(b) Describe any one type of aberrant secondary 

growth due to abnormal cambial activity in a 

plant. 

(c) Briefly discuss the production of industrial 

compounds through plant tissue culture. 

LSE-06 	 4 



PART II 

(Animal Development) 

Note : Question no 8 is compulsory. Attempt any 

four questions from questions no. 9 to 14. 

8. (a) Fill in the blanks. 6 x— =3 
2 

(i) 	 refers to formation of 
sperm cells in male gonads. 

(ii) The early response for the entry of 
sperm into the egg is the prevention of 

(iii) The movements of cells in the embryo 
to establish diverse organs and tissues 
are called 	movements. 

(iv) The stimulation of population of cells to 
differentiate in a specific direction by 
another group of cells is called 

(v) The metamorphic changes which bring 
about retention of certain larval 
structures in the adult are called 
	changes. 

(vi) The ability of the malignant cell to 
detach itself from the tumour and 
establish a tumour on another site is 
called 	 
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(b) Differentiate between the following pairs : 	2 

(i) Microlecithal and Mesolecithal eggs 

(ii) Animal pole and Vegetal pole 

9. (i) What do you understand by cell 
determination ? 

(ii) Differentiate 	between 	mosaic 	and 
regulative embryos. 	 4 

10. Describe the acrosomal reaction in mammals 
leading to fertilisation. • 

11. What do you understand by the term cleavage ? 
Briefly explain the difference between 
holoblastic and meroblastic cleavages. 	2 +3 =5 

12. What are the characteristic features of avian 
gastrulation ? Diagrammatically show the 
formation of primitive streak in the chick 
embryo. 	 5 

13. Explain the sequence of events in the urodele 
limb regeneration. 	 5 

14. Write short notes on any two of the 

following : 	 2x21 =5  
2 

(a) Role of hormones in human aging 

(b) Incomplete metamorphosis in insects 

(c) Fate of germ layers in humans 

(d) The mechanisms known to convert 
proto-oncogenes to oncogenes 

LSE-06 	 6 



1 7R.w.t.-06 I 
(-41-.74; 	) 

trtxr 
T4', 2016 

4.111 

.717  .-06 : 4ikati4 ATI fdoil 

TirRi : 2 V 	 3li*-07 3731 : 50 

4z.  : npr 13r vpr II 4 Jur 37-e-q-3rffir 3-m--31/T37-7 
7:7 ef4k-1/ '&17 4-T Jur 3/495 sip-, 	zik-f ar-ffirT 
313777T 	/ vie sit N7-4FTW A .fpfiAo 3774 
	S' /  

DT I 

(ggq tritath) 

3-)z : N-4,7 	ai-R-oref* sip- W. 2 ?Li 7 7:1 A-t-7 
wrf RFal 4-  am-  OFAT / 

1. (i) ftw , Q11.11 	11%trP-A-R : 

(i) 	 q'r 
4 klleiC11 q)(Cn 

LSE-06 	 7 	 P.T.O. 



(.1I 1Z1 	TriT 04)44) 1 41q "PAR : 2 

(i) 	 1i-4r W-370 'WM 

-141 A cflAisgit *I - 31k fe<1*ff crAdi 

(ii) 7-* Ns 	TT Tr4 glMl TR-Trr cbui . 

 (-Do 

OWER 3F1* 13114 cats 

(iv) tfUrif cnuil 	 V7 3c411q4 

LSE-06 	 8 



2. P4.1 	 4 -1*-4t 	Tifirff QuLl N .  

: 	 5 

() 	 

(1:4) eflAi 	 

('T) wIlKirdT 

(sr) 	*0-4 

3. 	In 	4 f 	41 # 	4t9.  AIR.-tt4 

(•) 34 *ftwr ITT kmi Qi4rw1 

41-6-truTrur -TAT q1 	4t 

(TO aiffralo w4r .  aliveito 

(sr) tict 	 4)14V1 Ott ct;14 414ti 4l 

4. r 	 T .ffzrr 	? 11WT 

err ? 	3r-di 7 cbt4*t 

-quiq trrA-R 
	

5 

5. til4atni§P4 	 3iNtr91 	Trrar- -Rraw{ 
Ditsum WART 	At4140 w-41 	I gti41 odutstii 

*I 

6. ervil-(1 7404 TIT lip 314th 	 nt) 	? 	Waif 

d£1 	It TR 4H4 31p-4W avig.  trDrRI . 	5 

LSE-06 
	

9 	 P.T.O. 



7. Pi-iRoi 	-1*-4i 	tN7 
	

5 

() ItuithIst IERIT ? *ti4 514)14 iC 

1441 TN 	-tt 3TETURRT 

cbitui ift ij mcbit *I" -P4Ert tdizr* 
*rr7R I 

(ii) ITKE1 d►ict) 144-4 TTT 311th-ft 711ft1 
3N1c.1 140q 14-4-441*frA I 

LSE-06 	 10 



.4-Fr 

Nom tirgitt-4) 

377;14.831*1101131Ff#.9#.1444A-4 .  
wrf 	3--dT eav 

8. (T) fte41.11*. te 6x—.3 
2 

LSE-06 

	

(i)   4 vhig -4-44 4 fel l 

	"wrer 

4 Twroj 	air * 	girl -04.  

q1Cft 51144>el 	I 	•Q' ilchtil,t 

(iii) kyr 4 idNA 	.3,04* IXTER * 

RTRT 'T (11101 	  

wd.4 	t 

(jir) 	3r-+-TK * Tr4rwr 	* 	tru 
vl 	

 
514)K* *ftrwr Try * f4f4t*-Kiir 

	

516041 	 et) 

31-r*-zu 	 \311 
ow:ft *I 3 	T3 w. 	TeT 

	516441 wit t 

(v)  	 4Tial ailq 	3TUTI 

)ct)t 41Llt * 	ids lurr 	34414 
1w4T -41 wrqqr -k.4 	mr 
	t I 
11 	 P.T.O. 



PHiCifigo 5,4i) 4 -4.4 *07 : 	 2 

(i) 114TitItM 	iiwaflaq) 3.1% 

tif4A 114 mrt ar- r1*-zr 

9. (i) 	%cm AtTim aTiti SIT VITO ? 

"ftrfft c u PeoFichiki le 4 f44q trf* 1 	4 

10. RritTrftql 4 	* 	awferw 	au 

fit, I 	 5 

11.q 	4 am 44("Wiej4 ? Ti4cr 4 

	

aimit *4-64 4 ak ixrz W-4R I 	2+3=5 

12. trreeff * tiorw4q * 	 fflisr 	# ? 
giu Tr kft TT 4 34TR 	 WM.  TAW I 	 5 

13. 170-1 	tifq T4444 	 sto-Psiog 

14. 4-irciRgo 4 4 1*4f 	Atta-  du-I LINT 

few 2x2-=5 
2 

wr-ertn-4-4 4 044 Al Rrwr 

NO cAel ' alipi 	 

(TO 	Hal 4 -4-4-A-  ITO *r AzA 

0E0 	-311*-A1-4 aii*--41-4 .44arAci 	 *1.  
441 cl 

LSE-06 
	

12 	 4,500 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12

